Lineare Gleichungssysteme

Löse nach dem Gleichsetzungsverfahren (3)

     1)   I  -8x - 2y = 20

          II  -8x - 10y = -28

     2)   I   x + 0,8y = -3,52

          II  4x + 5y = -29,2

     3)   I  -9x - 0,6y = 28,08

          II  -36x - 2,4y = -21,6

     4)   I  6x + 10y = 50

          II  -7x - 10y = -60

     5)   I  10x + 4y = 38

          II   x - 5y - 20 = 0

     6)   I  3x + 6y = -4,5

          II  -8x - 10y = 3

     7)   I  6x - y = 1

          II  10x +  y = -17

     8)   I  -9x - 18y = 117

          II  -3x - 6y = 39

     9)   I  6x + 0,6y = 39,6

          II  3x - 6y - 57,6 = 0

   10)   I  3x + 0,2y = 16,8

          II  8x + 2y = 36

   11)   I   x - 4y = 6

          II   x - y = -0,75

   12)   I  9x - y = -13,2

          II  3x +  y = -10,8

   13)   I  -1,5x - 10y = 54

          II  8x + 8y = -50

   14)   I  7x + 5y = 4

          II  4x +  y = 6

   15)   I  -10x - 5y = 40

          II  3x + 3y = -21

Ergebnisse:

1) (-4/6)    2) (3,2/-8,4)     3) (keine L.)    4) (10/-1)    5) (5/-3)    6) (1,5/-1,5)   7) (-1/-7)     

 8) (u.v.L.)     9) (7,2/-6)      10) (6/-6)      11) (-3/-2,25)      12) (-2/-4,8)      13) (-1/-5,25)      

14) (2/-2)      15) (-1/-6)     

